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@sin25° @ cos0° ® cos10°
@ tan4b° ® tan60°
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D sin25° 2+ @ cos10°

0°<x<45° Y W, sinx < cosx
w2tA] sin25° < cos 10° < 1

@ cos0° =1
@ tan45° =1
® tan60° = V3

whha] 71 22 7k @ sin 25 °
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@ cos 30° © sin40° © sin45°
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cos 30° = 0.8660, sin40° = 0.6428
sin45° = 0.7071, cos40° = 0.7660
tan 45° = 1.000
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@ sin20° > sin49° @ sin31° > cos31°
@ sin20° = cos30° @ sin45° > cos45°

@Sin 23° < cos23°

0°<x<45° 2l HEOA sinx < cosx 0], x =45° 4 o,

sin x = cos x < tan x ©|T}.
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@ sin z cos T tan =

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724
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a = 20X cos47° = 13.642
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(1) sin 55° = gO]EE

X = 8sin55° = 8 X 0.82 = 6.56
o8 55° = golE_E._

y=28c0sH5° =8 x0.57 = 4.56
(2) cos50° = %o]—‘:—'i

x=25¢c0sb50°=5x%x0.64 = 3.2
sin50° = gomg

y=>5sin50°=5x0.77 = 3.85




(1) cos38° = % olma

x=10c0s38°=10x0.79="7.9
. y

8°= —O|Ex
sin 3 10 ]

y=10sin38° =10 x 0.62 = 6.2
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(2) cos50° = o o|mg

20 20
= ———=—=23125
. cosb0°  0.64 3
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tan50° = 2 o]|Bm &
an 20

y=20tan50° =20 x 1.19 = 23.8
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10. BAFEA O-ABC |4 BAE AB & 8-S M, LOMC = 2 &
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11. AB =139 225 ABCOA] sinB = cosC ©]1, A A oA ¥ BC
of Wa =49 dojrt 5 o of, & BC ¢] Zo]& Fotoiaf,

sin B = cosC ©]"H /A = 90°
A A oA ¥ BC o Yal A9 dHE H 2 e,
A7Z+4 AHB ¢ 42 CAB £ E30lB=2
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/ACB = /BAH = x &t & 1] cosx = 3 sinx = 1—3,tanx =
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S - = __ o0
WA BO= o5 = 35 = 5y o
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